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June — Examination 2024

B.Sc. (Part I) Examination

BIOTECHNOLOGY
(Developmental Biology and Biostatistics)
Paper : BT-03

Time : 3 Hours | [ Maximum Marks : 35

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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1. (1) Define Differentiation.
fa%es =1 aRwifea wifST
(i1)) Give the Recapitulation Theory.
R faga gt
(ii1) What i1s Gerontology ?
SRS 1 ¥ ?
(iv) Give example of animal in which sporulation
is found.
39 YO w1 ISR SifSe fSEE SSoeEE
7
(v) Give the three phases of oogenesis.
VST 1 A g fafew )
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(vi) What is Capacitation ?
qrgars @ § 2
(vii) Write two characteristics of cleavage.
fagem & & efvere fafew)
Section-B 4x3%.=14
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries
3%, marks.
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2. Discuss about gastrulation. Write its significance.

FRF-YTT T 9 H Y, ST Hed hl THARY |

3. Enumerate the process of Neurulation.

=[E- 9o T faa=m ifsa
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4. Throw light on induction.
0T Gfsha W gRET SIfaT |

5. Explain mechanism of tetratogenesis.

faeasa &t fear-fafy gmemew)

6. Comment on DNA-microinjection method. Draw

diagrams.
DNA "EsiE~aRH faf w feooft #ifse) fo smmEw)

7. Explain organ regeneration by the help of an

example.

3fad 3TV G ST YAGGa W SARGAT HifS(T |
8. Write short notes on the following :

(@) Pollen-pistil interaction

(b) Mega sporogenesis

frafafea w= dfya femfirt fafex .

(31) S AR

() TSI

9. Throw light on double fertilization.

oo
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Section—C 2x7=14
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 7 marks.
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10. Of the few birth rate data from selected countries

draw pie chart to show and visualize :

Country Birth rate
India 40
Canada 30
France 20
Australia 25
Japan 20
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11. Calculate mode of the following data :

X 0 1 2 3 4 7
f 4 5 7 6 8 5
U T ST &1 9gae 91 HIST
X 0 1 2 3 4 7
f 4 5 7 6 8 5
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12. Calculate mean deviation across parallel mean of ffafea aftet § @l foods &1 geawery o

the following data : J Hife
52, 40, 75, 70, 43, 40, 65, 35, 48, 62 @rE ki AT ST (Hifger =7 #)
frafafeg sffwel & fau 9MrR A & 9ie A 15 85
ferere A wife 18 93
52, 40, 75, 70, 43, 40, 65, 35, 48, 62 20 95
13. Calculate the co-relation coefficient of Pearson for 24 105
the following series : 30 120
Amount of food Production 35 130
Grains (in metric tons) 40 150
15 85 50 160
18 93
20 95
24 105
30 120
35 130
40 150
S0 160
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